Clothes Spot the Difference Answers

There are eight differences between wardrobe 1 and wardrobe 2.
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In wardrobe 1, there is a green and white jumper. In wardrobe 2, this is a red
and orange t-shirt.

In wardrobe 1, there are three baseball caps and 1 sunhat. In wardrobe 2,
there are two baseball caps, one sunhat and one hat.

In wardrobe 2, the colour of one pair of socks is different. In wardrobe 2, the
socks are yellow and green, but in wardrobe 1, they are blue.

One pair of shoes is different in wardrobe 2. Both shoes are red, but the style
is different.

In wardrobe 1, there are 3 pairs of boots. In wardrobe 2, there are 4 pairs of
boots.

In wardrobe 1, there is a red handbag on the shelf. In wardrobe 2, there is a
blue handbag on the shelf.

In wardrobe 1, there is one pair of yellow glasses. In wardrobe 2, there are
two pairs of glasses- yellow and green.

In wardrobe 1, there is a pink and purple dress. In wardrobe 2, this is a pair of
yellow and orange shorts.
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